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n'=TIk
k=1

function factorial(n){
Int k=1,
for(int I=1;i<=n;I++)K *=|;
return Kk;

}




) : PSS :

n'=TIk
k=1

nl=nx(n-1)!

function factorial(n){
If (n==1) return 1,
return n * factorial (n-1);

}
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5 : Fibonacci#X
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moveDisks(iam. 2. WEN) {

}

if (E==1) {
IR SHRRICIFIZE;
return;

}
0 = ZEL\NTUL\BHE;

moveDisks(3852, 0, MEX - 1);
D fTe— Wi mA\TZE);
moveDisks(o, #2m, BEX - 1);




void moveDisks(int from, int to, int number) {
If (number ==1) {

moveSingleDisk(from, to);

return;

}

int o = 3 - (from + to); //other pillars
moveDisks(from, o, number - 1);
moveSingleDisk(from, to);
moveDisks(o, to, number - 1);
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move(0,2,5) — move(0,2,3)
— move(0,1,4) —— move(2,1,3)

— move(1,2,4) —r— move(1,0,3)

— move(0,2,3)
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